]

b

Tyme : Three hours

C RS34008 )

THREE YEAR B.Com. (General) (CBCS) DEGREE IEXAMINATION, MARCH/APRIL 2021.
' THIRD SEMESTER
BUSINIZSS STATISTICS

Maximum : 75 marks

(No additional shcét will be supplied)

R

SECTION A — (5 x 5 = 25 marks)
Answer any FIVE questions. Fach question carries 5 marks.
A3 oo (B0 Sararsven @rabin. 98 HHE 5 Srt,eo.

Define Statistics and explain its limitations?

| Hewo¥smgeR) g0, T Gns, $BDees D3oFod? |

. . _ . Co N

Find median from the following marks of 10 students? f;—,c/ﬁlf“z‘i Sz -:*,*-g
P! [ SN AN
12,14, 16,18, 20, 24, 30, 40, 42, 50. | (orART o)
0% BV 10 3008 DT g B+, 0D HEIBER0DH EHAS0d? o i,
_ . i —

12,14,16, 18,20, 24, 30, 40, 42,50, ' \3’1’351}12/
Advantages of Mode. e
DITDVEI adE); ergren.
From the following data of weight of 1 year old children, find Geometric mean?
11,12,13,14,15,16,17 o
228 SADRye DY BEHH $020FoI SBToRL 50D KHe S065520800 ER0A°S0E ?

11,12,13,14,15,16,17 _ )
Define Asymmetrical distribution.
BHS DgTeS0 ,‘()55".’)01:’)0&?

Find out Quartile Deviation and its coefficient from the following data of marks of 10

students? 23, 12,30,40,48,25,44,34,28,32

8O3 358 5)0‘23%)0 bfdobe)é 09020809 darodo od S&orod 2)1:5035‘0 wBafn  Kres¥o
EXoRH0@&? 23,12, 30,40, 48, 25,44,34,28,32 ' :

Skewness definition.

63_3’.1;)3250 35‘51‘5?60.

Rank correlatioﬁ.

§%3 SrRow0e KHeako.,

e U PN R




9.

10.

11.

13.

» 41,

’ 57, 37, 53, 38 ) ’ i

54, 67, 73, 25, 30. 5818 wosom & oo é%;sjgg, ;25 44, 37,

D385 Sortr3anod. | | | " gz

1 truet an index number for 2020 taking 2019 as base ag e .;
) ’ ing datn, construct 2 7 o0 |
Irom the following data,
Simple Aggregative method?

Commoditios | Price in 2019 | Price in 2020
R G0 | 90
B 00 135
0 35 170
D 37 b2 |
) 1 > HED ool |
= 9 v, 4 “ [
Bo8 Stmoso D" 2020 VoSETRE 1R 2019 H0HHT BRoPYT SWED g £y ,
Q&S :(D*fb:éog)ém ABpowod.
Q .
QY 2019 &° &Y 2020 & 58
A 60 90
B 90 135
¢ 85 170
D 37 52 )
E 45 60

Define Fisher's 1deal Index.
RNS) SE R’)J“?.Y.boajéen 1080 D3BoS0d.

SECTION B — (5 x 10 = 50 marks)

Answer ALL questions. Each question carries 10 marks.

&6 1808 [9¥%0% B3 tahod, B8 5% 10 S 0.

Define primary and Secondary Data and explain the differences between thege two?
°E08 SH8a%n Beda CSE:O?"K)& N80, T3 D5 Bromd DS3B0:508 7

Or
Weekly pocket expenses (i
98, 79, 83, 72, 64, 39, 75, 39, 37,59, 97, 37, 53 38
34, 54, 67, 73, 25, 30. Co

28, 49, 45,70, 82, 4
nstruct the grouped fre
width of 5.

T°o°D8 Zaw PKrew Erardhed®) VIIT asxag D08 40 %

i o O G, sy, g
39, 34, 71, 26, 56, 61, 58, 79, 83, 72, 64, 39, 75, 39, 37, 59
79, 76, 44, 25, 28, 78, 34,

41,39, 34 71, 26, 56, 6]

4, 317, 79, 76, 44 25 28 178
quency table with the clagg interva] of eé;uai

Find out Mode from the foliowing data.

Class Interval | 15-25 [ 25-35 35-45 | 45-55
Frequency 4 11 19

808 Serodo erdodsan EpRtsod.
BBR e08880 | 15.95

25-35 | 35-45 | 45-55 | 55.65 | 65.75 |
9850 4 11 | 19 | 14 8 2 )

Or | :

55-65 | 65-75
14 8 2




T TR IR SRR RO

caleuls ate Geometric Mean from t}q following data.
Class Interval| 0-10 | 10-20 | 20-30 T30 40

[requency 8 10 15 5
208 85030 TS DBREGHL0 Kiorsoq,

o850 | 0-10 | 10-20 | 20.30

10-50
2

SBHE
s | 8

-

pind out Quartile deviation and jtg coefficiont?

@ [Closs Intorval = 10 ‘)0 3040 | 40-50 [ 50-60 [ 60-70 | 70-80 |
f l<1;u£9l9‘ 12 [ %8 [ 90 | 10 | 10

- w

ly 4\3690@350 0-10 | 10-20 | 20-30 | 30-40 | 40-650 | 50-60 | 60-70 | 70-80
P x5 [s [0 | 12 [ 28 | 20 | 10 | 10
| 8 | o |

‘ \’6 rind out Karl Pearson's Coefficient of Skewness

L@ 100 | 110 | 120 | 130 | 140 | 150 | 160
. Workers| 10 | 18 | 22 | 25 | 40 [ 15 | 10
=5 DaDByS B, Jeg 80 EAS08.

J8T°ed | 100 | 110 | 120 | 130 | 140 | 150 | 160
sDHe| 10 | 18 | 22 | 25 | 40 | 15 | 10

3

Explain the importance of correlation?
$FH00E0 GIVE), La»n»aréa& DSB0S06?

R gk TR
¥y S

Ten competitoi‘s in a beauty contest are ranked by three judges in the following order:
| [I=Judge:] 12 [3]45]6]7[8[9]10
. [27Judge:[10[ 9 [8]7]6]5[4[3]2]1
* [39Judee | 8 |10]9]7]5]4]3[2[1]6

Use the rank correlation coefficient to determme which pair of Judges has nearest approach

to common tastes in beauty. -
Bomre536E $8:5008 ego&Sl@e)é) .;ama; m&w 18o¢s ;smfogmoesfs ooéogm 'aa‘;)éo
13ag:[ 1] 2 |3|4|5/6]/7]8]9[10
25&3&109876__5_4321
35ag 9|7]5]4(3]2]1]6 | ’ "
8 |10 _J__J___J‘_J Bod b B mée) OB BT TG

| 58 Soesomogs Meako esarhod, 0TS B0

SO S0& 2
8 Explain the advantages of Index Numbers?
W00 08, o 360307 o
| Or ~ ( rsadoos )
3




o
oA

, -
Y From the following data, find out Time Roveran] Test and I*actor Reversal Test.

Y

Commuodity j

Base Yoar . - | Current Year
I'nce “(‘J Quantity [Unita] Price [Ra.] | Quantity [Unit?
A 9 Vi 16 65
B j S [ 160 3 180
C 6 | v 9 90
D LT N 11 18 36

E08 3ot 00D SToRBaYY VK DAL 5850 SO58H 50K EHFB08,

BN J QEmd NodhyBo (I8 JosEBo

|

l Jloo [So11] | 983760 [Aume) | $8 [8re11] | 9853570 [aeden]
| A ] 9 75 15 65

[ B 3 150 3 180

; cC | 6 90 9 90

| D 15 45 18 36

| E 12 60 18 48

4
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SECTIONA — (5 x 5= 25 marks)

AnSWer any FIVE questions. Each question carries 5 marks.
3D D (HHOH BSrGrSes @rabesy. (58 By 5 s8o,e0.
Process of Book-building. - '
2§ - HYOR V8.
Forfeiture bf shares.

e B).

Differences between shares and debentures.
Teren 8k GBoSY D Borev.

Erﬁployee stock ‘options.
665100 A JoDE.

Sﬁper profit méthod.
OEPY) PO :.’)cgé’é.

‘Need for valuation of shares.
Ter JaTPSg05R 35855,

Interim dividend. ,
: 53({)235"@5 &G0k,

Adjustment entﬁes
(a) Provision for tax
(b) Proposed dividend
- deren Seen

(2) H30,5°5% domyew
(b) 3868 EDE0LY




10.

11,

12.

Buy back of shares \ : |
Jrerre QBR S Rtey : S |

. , Sl aid equity shares.
Reserves available for issue of bonus shares to fully paid equity

IO QoD TereD THY o B8 votkerend’ &0t Baytiden.

SECTION B — (5 x 10 = 50 marks)

Answer ALL questions. Each question carries 10 marks.
80 208 330 Srgrare tabod. (98 [FHED 10 Srdye.

UNIT -1

Sravani Ltd offered 8,000 Equity Shares of Rs. 50 each to the public at a premium of 10%,
The amounts payable on shares were as follows: ’

On applications: Rs.15'per share -

On allotment; Rs.30 per share (including premium)

On first and final call: balance of amount

The 'company received applications for 7,000 shares, all are accepted. All money due Was‘duly
received, excepting on 500 shares on first and final call from a shareholder. The company

decided t.o forfeit these shares. Subsequently these shares were re-issued at Rs. 45 each. Yoy
are required to pass necessary journal entries,

E963 ODSE 8 8,000 S3ee3Treren .50 DevsKeD, 10%
(808 DeSorr IAHIS.

BA0E" o8 Idar), agom
GBPRID &.15 08 TrerH

Bera0D 8730 (98 T (20008’ %)
2006563 SoBatn 08 DewH WA o,

o828 7,000 Trere SEgen oo, ©ANBY ©of¥Bo2) OB ZeranoTe), 2,4 ey
. WS T

oSy 5OR és?()& 500 Treren kel DBty &8 e s |

2RO Jooegiins sy
{

IVrGIB. LoD e TereoD wy) I8, ST e o
) ‘, . 45 e SIPO BOR B 326,

{

OB DT @ratv. |
1

Or . |

K Ltd offered to the public 20,000 Equity Shares of Rs. 10 each
follows: ' : ch. The Payment wag to be as

On application - Rs.2
On allotment - Rs.3 :
On first call - Rs.3

On final call - Rs.2

The company received applications for all the
entries in the books of company.

[S]




cjmm’h.\) e, 2

geravoyp . 3 |

AVSE VeV W, 3

L8 DevYD BT 2
mﬂ"\mOP’ eo.‘(\t) RATRATSLS) (1558)*3:\‘13@5 ;‘)D‘)F\’)D 080 ®ofiEBod Treresd GeronoT . Ko
‘\wﬂc\é @\50&‘\)3 {'.)éJ"J)C.&)m Pra08.

UNIT - 11

On 1% January, 2017. a limited company issued 5,000, 6% debentures of Rs.100 each
repayable at par. It has been decided to establish Sinking Fund for the purpose. The interest
on investments is 4%. Sinking Fund table shows that 0.235490 annual amount to one rupee
at 4% in four years. Investments were made in multiples of hundred only. Investments were
sold. Debentures were paid off. Prepare Sinking Fund A/c, Sinking Fund investments Alc and

debentures A/c for four years period.

238 1, 2017 D 2.8 dWEE ¥odd 5,000, 6% EBoSty 87,100 DeodKemedd Teurd J0ET O
SHTS PV DIrSTo  Doodor ed  Bd. RS D IFIVHD  o7e
JADSOITE. VLNV 4% SED e580SHOL). DESVE HeIo [H5EIW (8 BoDdeyBo 8re. 0.235490
o 4% :éééﬁ 4 K?oéé‘bo"e) éé&?vé aéir’ l@ea;ifg. f;i)doem CLS§5 8. QlOO oes® Joed.

be.gwc‘.‘coom @médgﬁ_)éﬁ. &801563 ESQO&&)&?{)Z). Dé{)ﬁ)@ e, X)é;.’)?()@ T;)e%ga)ci)e) gree 8ol '
éﬁoo'gl 2r&oN 4 boééﬁ)me)é:) SO HIAD0E.
' ' Or

Pass necessary journal entries in the books of a company, in the following cases, regarding

debentures issue and redemption.

(a) 10% Debentures of Rs.100 each, issued at par and redeemed at par.

(b) 8% Debentures of Rs. 100 each issued at 5% premium and redeemed at par.

(¢ 9% Debentures of Rs. 100 each, issued at 5% discount and redeemed at 5% premium.
(d) 10% Debentures of Rs. 100 each, issued at 10% discount and redeemed at par.

(¢) 10% Debentures of Rs. 100 each, issued at par and redeemed with 10% premium.

3 Zoss ABRES. &BosSY 28 58050 IBISHEK oD PISTOS” ISP DB @B,
10% &Bosey &oe. 100 DendKed O ;in"o“?sﬁ)g 283D Bo0rergd8  DITEBHH0

(a)
5;07\‘)@)“)3@ :
() 8% EBosEy Buv. 100 Dewdred 5% @)Zbo‘boée az°8 32 0> SrergR8 AATEIRH0 mé@ca)
(© 9% &Bossy tue. 100 Devdod 5% Gar)0en8 2833 5% D0Ho8" DATBB50 VDD
@) 10% &Bosdy . 100 Devded 10% Bomotnd” w8 JD JWIrOrRE DB SHIN
3:0.6&)0);&23 '
€) 10% Aoty . 100 DeIKeD BB Bourergds &8 3D 10% PAabos g)&)'o‘j;{)m

33)?6‘{)0)3(‘33.

2 | ' ( R’S35’0073




15.

16.

. The following is the balance sheet of

UNIT - 111

‘ in respect of R Ltd. ‘

Following particulars are available in 1051)0(;000()0 9019-Rs.1,48,000 and 2020-Rs.1,52’000
1 B OOIB'R‘S.I, ’ ’ . ;

a)  DProfits carned by R Ltd are 2 destroyed by fire and Profit;
(Ur:) Profits of 2019 were reduced by Rs.20,000 due (t)c(; 0stock by
2018 included a non- recurring income of Rs.10,000.

: 000.
(©  Profit of 2020 includes income on investment Rs.10,

B rudent to insure the stoy. . |
(@) The stock was not insured in the past and 1t. is thq;%%t, pa : i
future. The estimated premium of insurance is Rs.5, p.a.
' idered earlier) is Rs. 20,000 p.a.
(©)  Fair remuneration to the director (not considere

o i ears of purc :
You are required to compute the value of goodwill on the basis of 2 y Ot purchage
average profits of the last 3 years. \

808 d3ew R OWG3E 62 No0FoII.

(@ R daE 8B0dX ereren SKHM™ 2018 - &

. 1,50,000, 2019 - &. 1,48,000 6oy,
2020 - 8. 1,52,000

®) 2019 orzren oRyBarGo S0 B8k R0 87, 20,000 03 SRosaB38, -
2018 ererost DNT)B0 52D erefo Kv. 10,000 e Lod &3)8.
© 2020 ergre® vepacey 3G 8°. 10,000 en Ko &3)8. _
(d)  K80S* 55050 DI SaHSss, BR80 D% DA Jahe D0IE g0 gy Bcﬁom .'
0. ©0IT BB DA HWabo QoIBVTRS &, 5, 200 |
() 2855 Gy, 35098708 28550 (K80S® &3s808) OSB3, 20,000, {
8 30 Dodsiore 9 overes® 3o NOIETO E3Peyss PE-26 Dot anos
ngoc’nfm ‘ ‘ A

Or

Liabilities

Max Ltd as at 3 1-12-2020_.

Rs. ' Assets "R,
Equity shares of Rs.10 5,00,000 Cash balance 25,000
6% Debentures of Rs.100 2,50,000 Sundry debtors 40’000
General reserve 1,35,000 Stock 60)000'
Profit and Loss A/c 10,000 Investments 1’50’ 000
Sundry creditors 15,000 Land.and Buildingg 3,00,000
Other liabilities 10,000 Furniture 40,009
Plan and Machinery 2,70)000
, Goodwill 35,000
9,20,000 , 9,20)000
All the assets were independently valued at Rs. 12,00,00me“n\et brog
ro
company for the last five years v'vere RS.G0,000‘. Rs.(_34,000, RS'BG’O():;S arneq by the
Rs.70,000. It was decided to set aside 10% of the profits toward, oor
investment return may be expected at 10%.

Find out the valye of "

(a) Intrinsic method and (b) Yield value method.




51.12-2020 &3) 358y DDBE 36 52

ep?-’)a))w &or

(%cPoS8 & 100 250,000

gdes Baddg 1,35,000
OPRNFO P 10,000
29 wvetrden 15,000
RBE ©JPed 10,000

e

Ben > :)%3; 8o

1S Desg 25,000
DD wveayiigey 40,000
P 60,000
Depwter . 150,000
oo gdwren 3,00,000
PGSt 40,000

otw dhoren  2,70,000

0&EDS 35,000

9,20,000

oSN & 12,00,000 e Devss sdmm. K 5 B0B5STeS" Kodd DD DES erEres
S 8°.60,000, 85°.64,000, &57.66,000, &57.64,000 o8k &.70,000. everes’ 10% FoG-Se
Brtiog® B8O Sa-D. Depardd SZIES oo B 10%. Trer Devdid (a) B Devsd 559
800 (b) T8 Dend SEB (IS0 EH .

UNIT -1V

The following is the trial balance of X Ltd. Prepare statement of profit and loss and Balance

sheet as at 31-12-2020.

T S " ———————

Debit balances Rs. Credit balances Rs.
Land buildings 1,14,000 Capital 9,00,000
Furniture ' 50,000 General reserve 50,000
Plant maéhinery' 57,000 10% Debentures 3,14,000
Stock (31-12-2020) 7,00,000 Trade creditors 50,000
Salaries . 76,000 Gross profit. 3,23,700
Debtors 1,00,000 Interest on investments 10,000
5% investments 76,000 Profit & loss Alc (1-1-20)  1,33,000
Bank 2,45,000 :
Interest on debentures 5,700
Directors fees 50,000
Rent, rates insurance 57,000
Goodwill __2_5_(_),_@_0_

Adjustments:

(@) Provide depreciation at 10% on Land and buildings and at 5% on Furniture and plant

and machinery.
(b) Transfer to reserve Rs. 50,000
(©) Provision for taxation Rs. 1,00,000.

5 C RS35007 )
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18.

19.

'f) Q- | a" ’ :)g 256
\ D L L QW) e ( .\) é§
o AU Ge UL -

%,
0 XV, .
@R BHNPO ;\ééb ST WA Ko |

S N @&es DO . 1
a0 Nogw ol cé:{)é 9.00,000 ta |

¥ 0070
AR VEEANTY 1,14,000 50,000
50.000 rgroes Baxtiy |

DR " 0 ABoS: 3,14,000

o)) AHOEED 57,000 10% G20V s

!\,ﬁ A wwéw ,

RO (31-12:2020) 700,000 DY) LT

) 3,23,700

e i & 10,000

BAVTRNG 1,00,000 RO I _ 133,000

5% deywn 76,000 gy pree (1-1-20) 1,33,

wrseR 2,45,000

GBoagd ¥¢ 5,700

E358 e 50,000 | i

©3, Sey O3 57,000 | | 225

=26 2,50,000 -

:bﬁguwe‘}z X = .

@) SRS 10% w60 56 m SOHSOD Jovyen I,
®)  Batoew 289 k50,000 PR A - . ' |
© 3% S Do 85°.1,00,000

per the Com ani ;
S0 360 2013 ¥s°80 Kond Bk, &R O9po 59§ S, - Qi C’»es Act 2013
UNIT v
The following is the balance sheet of ABC Ltq as at 3‘1_12 20
Liabilities Rs. Assetg 20.

Share capital: 60,000 undry agge Il{s.
Equity Shares of Rs, 10 each  6,00,000 1,50,00q
Securities premium 1,50,000°
Reserve fund 1,560,000
Profit and loss A/c 2,00,000
Creditors 50,000

—_—

The compan'y decided to issue- 3 bonus shareg for every ﬁv\

S
securities premium and reserve fund and the balapc, from s }.1eld
purpose. Pass necessary journal entries and Prepare balay &

decided EFeme
. to utilize
ang .

€e sheet logg Ale o Bt

1




020 3 ABC 9088 6 w5 T
) [N}

1272 208 9
I espe - s For a8,
4yreotsi501 60,000 e P
e o ® &en 11,650,000
AP T & 10F9p% 600,000 '
: .
s vabo 1,60,000
85&59@ 1,50,000
P P& 2,00,000
R 50,000
11,50,000 —_—
-11,50,000 11,560,000

s P8 D Tero® 3 SN Trerew 8 3oHhaena 5

g0
L%ma\')o, 8&350(8 QGO IV RO RV o))

od & IO 9630 SarHIchniw.

Bowoirth. wo6E°6E WErBele
D) OGP grer Nog 5006 ¢E"d. Depeen

Or
W The following is the information relating to a company as on 315 March 2020
Particulars — .

Authorized ca_lpital i :

90,000 Equity shares of Rs. 10 each 2,00,000
[ssued and subscribed capital

7000 Equity shares of Rs.10 each 70,000
Reserve fund 36,000
Profit and Loss Alc 29,000

The board of directors pass a resolution to capitalize a part of existing reserves and profits by
issuing bonus shares. One bonus shares is being issued for every 4 Equity shares held at
present. For this purpose, Rs.10,000 is to be provided out of reserves and the balance out of

profit and loss A/c. Give journal entries and show the balance sheet.
315578y 2020 % 2.5 Ko H30orEn BoBAGorT &H.

d5ooen - [
| eBgs Suredsio
20,000 $3¢e3 rermen 8. 10 T3y 2,00,000
| 2080 Some @0l TR0
| 7000 53 qreren 610 SHpd 70,000
Basting 26 36,000
Ci5p0 aree | 29,000

555 rere @B Bobo TO° 2008603 FBEY
B8 ¥ &SR e er8 K. ROHEED
gree TS, TR TR &Y

8&&)5&’ 08w ergredst §odermra)
?56% :)gQJOOij"dJ.’ 08 4 683593 ey EORDT
B%OSQ’ 3008 8. 10,000 F¢E"R, JADD o) ARG

"po 50 S0,
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PARTA—(5x5 = 25 marks)

Answer any FIVE queétioﬁs.
What are the lstatistical methods?

Distingﬁish difference .be'tween primary and secondary data.
What are the objectives and functions of average? ‘
" Merits and derﬂerits of Hormonic mean,

. Properties or features of good: measure of dispersion.

. Absolute measures of skewness.

Causation and correlation.
* Characteristics of Karl Pearson's coefficient of correlation.
- Objectives of Time series.

Features of Index Numbers. e :
' PART B — (5 x 10 = 50 marks)-

‘Answer FIVE questions.

Anéwer one question from each unit '
UNIT-I

Describe functions of statistics.
' Or .

Prepare Multiple Bar Diagrams
Science Humanities Commerce

Year

'2010-11 240 560 220
2011-12 | 280 610 280
<9012-13 340 570 370



UNITATE | B

Income IEmployees No

13.  Prepare median with the following data

more than 0 100
more than 10 74
more than 20 52
more than 30 37
more than 40 21

more than 50 10

Or

14,

Caleulate geometric mean

x=23564
f=101518127

UNIT-IIT
15, Prepare standard deviation

16.

Prepare co-efficient of correlatjop

Age 42 3¢

418 43
BP

55 56 -
38
130 125 14 130 149

145" 19,

Or

18.  Prepare Rank correlation

R,




pre

UN]']‘-V

o straight line from the following data

- ppep? :
“‘_‘_Pl Year 2007 2008 2009 2010 2011 2012 2013
Snles 33 35 60 67 68 82 9o
Or
are Index No, Marshall, Fisher, Bowley TS
s Commodity o UOATEE N
ommodity po qo p1 qo "/’KLIBR/\P‘/\%"
A 10 50 4 25 Date.. \):
B 12 20 5 30 T <
| N waes
C 16 8 7 2 =t
D 20 10 8 20
E 10 9 9 10

RS 35008 )
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